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1 Generic qubit measurements

A qubit is subjected to two measurements. First the qubit is measured in the basis
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and the result is recorded. The qubit is then measured in the basis
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and the result is recorded. Prior to the first measurement the state of the qubit is |1).

a) Determine the probability with which the first measurement yields either outcome.

b) Each measurement yields one of two possible outcomes. How many combinations of
outcomes does the pair of measurements yield? Determine the probabilities for all
possible outcomes of this entire situation.
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Bloch  splore
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2 Tensor products of qubit states

Consider the following states for a single qubit:

|2) = \/— 10) — E 1)
|#3) = ﬁ 10) + E 1)
1 i
|a) = 7 10) — 7 .
Express the following tensor products in terms of |0) |0),.. ..
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